
Answer #24

The answer is (a): the outer magnet will fly off the spinning disc first, followed by the middle magnet 
and the inner magnet in that order. This can be seen in an mpeg video by clicking your mouse on the 
photograph below. 

The centripetal force required to hold any object in a circular orbit is greater for larger radii: in fact 
the force is proportional to the square of the angular speed and goes linearly with the radius for a 
constant angular speed. Therefore, at any angular speed the force is greater for larger radii. If the 
magnets have the same strength the one at the larger radius will therefore fly off first.

Archive 2

Question of the Week

Outreach Index Page

Lecture-Demonstration Home Page

For questions and comments regarding the Question of the Week contact
Dr. Richard E. Berg by e-mail or using phone number or regular mail address

given on the Lecture-Demonstration Home Page.


